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Úloha1: Sčítanie a odčítanie prirodzených čísel v obore do 10 000.

3 653            7 409          3 041          958           9 875        564
2 741          - 3 802         5 407       -  548         -    935        789
	
9 003            4 538          4 830         6 593         4 835        518 
   753            3 074        - 2 056      -    763          3 741     - 342

a + b = c
	a
	3 705
	4 780
	3 285
	3 071
	4 354
	2 744

	b
	1 032
	5 003
	4 705
	5 803
	   527
	   664

	c
	
	
	
	
	
	



a – b = c
	a
	3 564
	4 960
	9 285
	8 089
	2 456
	6 031

	b
	1 032
	2 003
	6 005
	5 993
	   527
	   559

	c
	
	
	
	
	
	



a + b = c
	a
	8 953
	
	6 403
	5 630
	   364
	5 697

	b
	     46
	5 620
	
	2 469
	
	

	c
	
	6 123
	7 113
	
	3 412
	6 978



